2nd PUC English Workbook Answers Streams Integrated
Exercises

1. Look at the notes given below and complete the paragraph that follows by choosing the
correct options.

Egyptians discovered paper — made of stalks of tall reed — from the word papyrus — supplies
limited — export restricted.

The (a) Egyptians. It (b) The English word paper (c) When
supplies were limited (d) export.

(a) i. discovery of paper has been made by the
ii. discovery of the paper was made by

iii. discovery of paper was made by the

iv. discovery of paper is made by

g’

EduKa_rrl‘l"lwat‘i‘aH\.Com
(b) i. was made from stalks of reed
ii. had been made with stalks of reed
iii. was being made of stalks of reed
iv. was made with stalks from reed

(c) i. derived from the word papyrus

ii. is derived from the word papyrus

iii. has been derived from the word papyrus
iv. was derived from the word papyrus

(d) i. and a restriction was imposed on
ii. a restriction was being imposed on
iii. a restriction has been imposed on
iv. a restriction was imposed on
Answer:

(a) —iii;

(b)—i;
(c) —ii;
(d) —iv.
2. Fill in the blanks with the passive forms of verbs by choosing from those given below.

a) Shops With Products Worth A Crore Gutted In Fire

Many shops with ready-for-export products worth rupees one crore in the fire that
broke out in Okhla district yesterday.

(i) was gutted
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(i) were gutted
(iii) had gutted
(iv) is gutted

(B) Autumn Vacation Rescheduled

The duration of autumn vacation for the schools of Delhi, NCR due to the
Commonwealth Games going to be held in Delhi in October 2010.

(i) has been rescheduled

(ii) have rescheduled

(iii) has rescheduled

(iv) have been rescheduled

Answer:

a-ii;

b-i.

3. Read the following conversation and complete the passage given below.

Employer : Why did you leave your previous job?

Applicant : They didn't meet my requirement and salary expectations. Employer : What
salary do you expect here?

Applicant : | am expecting Rs. 50000/-per month.

Employer : We can pay Rs. 30000/-per month.

An applicant went for an interview in an office. The employer asked him why he had left his
previous job. The applicant replied that . The employer further enquired
. The applicant frankly told him . The employer concluded by saying

Answer:

1. the job didn’t meet his requirements and salary expectations.
2. what salary he expected there.

3. that he was expecting Rs. 50,000 a month.

4. that they could pay Rs. 30,000 a month.

B. Integrated Exercises

1. Choose the most appropriate options from the ones given below to complete the following

passage. No doubt social networking site Facebook (a) become one of the most

popular (b) in the category but it took me a year to learn (c) to use

this site. When | expressed ignorance (d) Facebook, one of my (e)

commented: “You know, these days the person who (f) not have (g)

account on Facebook does not ‘exist’, so 1 decided to exist and signed up for an account (h)
the site.

Answer:

a-ii;

E"
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b—iv;
c—ii
d —iii;
e—i
f—i

g-ii;

h —iii.

2. Choosing from the alternatives given below complete the paragraph.

He starts his working day (a) early morning briefings (b) a quick puja
(c) a little Shiva temple. He likes to read the newspaper and generally has
papaya, fresh juice and poha (d) breakfast.

Answer:

a-—i

b—ii;

c — iii

d — It should be ‘for’. You can’t write ‘with’ because ‘poha’ itself is breakfast.

3. Read the following conversation and complete the passage given below.

Manu : Is there any problem with the car?

Woman : | have a flat tyre. But | just don’t know how to change the tyre.

Manu : Let me give you a helping hand.

Woman : Oh, that’s very nice of you. Thanks so much. Indeed you were a great help.
Manu : It was my pleasure.

Manu saw a woman standing near her car by the road. He asked her (a) . The
woman replied (b) but (c) Manu offered to the lady a helping hand.
The woman thanked him and said (d) Manu replied that it was his pleasure to be
of help.

(a) i. is there any problem with the car

ii. that there was any problem with the car
iii. if there was any problem with the car
iv. if there is any problem with the car

(b)
i. that she had a flat tyre

ii. she had a flat tyre www.edukannada.com

iii. she has had a flat lyre 00N 203 Seot
iv. that she is having a flat lyre ” 5 3
S8 I, I,
23083003ye5¢ BAWD..!
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(c) i. she is not knowing how to change it
ii. that she doesn’t know how to change it
iii. she just hadn’t know how to change it
iv. she just didn’t know how to change it

(d)

i. that he had been a great help
ii. that he has been a great help
iii. that he is a great help

iv. that he was a great help

Answer:
a — iii;
b—i;
c—iv;
d-—i.

4. Study the given notes and complete the paragraph that follows:
Annual sports day celebration in school

Director, Sports and Youth affairs — chief guest

Received by the Principal, staff, head boy and head girl

Welcome speech by the principal

Address by chief guest

Prize distribution

Vote of thanks

The annual sports day function of ABC was
Answer:

The annual sports day function of ABC was celebrated grandly. The Director of Sports and
Youth Affairs was the chief guest. He was ceremoniously received by the Principal, staff, the
head boy and the head girl. The welcome speech was given by the Principal. There was an
address by the chief guest. The celebrations ended with the Prize distribution by the chief
guest and vote of thanks by the correspondent of the school.
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